Transfers Report

This report contains the transfers results.

Contest Name	Ward 19 - Hamilton South
Valid Votes	7,073
Positions to be Filled	4
Quota	1,415

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Joanne FERGUSON	Scottish Liberal Democrats		210
John KANE	Scottish Green Party		216
Joe LOWE	Scottish Labour Party		1,818
Brian MCCAIG	Scottish Labour Party		643
Lynne NAILON	Scottish Conservative and Unionist		1,544
John ROSS	Scottish National Party (SNP)		2,167
Josh WILSON	Scottish National Party (SNP)		475
		Total	7,073

Candidate Joe LOWE Elected with 1,818 votes, being in excess of the quota of 1,415 Candidate Lynne NAILON Elected with 1,544 votes, being in excess of the quota of 1,415 Candidate John ROSS Elected with 2,167 votes, being in excess of the quota of 1,415

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John ROSS

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne FERGUSON	51	0.34702	17.69802
Transfer to John KANE	94	0.34702	32.61988
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Brian MCCAIG	76	0.34702	26.37352
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	1,815	0.34702	629.84130
Value of non-transferable ballot papers			45.46728
	Total		752.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Surplus of Joe LOWE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne FERGUSON	73	0.22167	16.18191
Transfer to John KANE	40	0.22167	8.86680
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Brian MCCAIG	1,449	0.22167	321.19983
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	34	0.22167	7.53678
Value of non-transferable ballot papers			49.21468
	Total		403.00000

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Lynne NAILON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne FERGUSON	461	0.08354	38.51194
Transfer to John KANE	92	0.08354	7.68568
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Brian MCCAIG	351	0.08354	29.32254
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	30	0.08354	2.50620
Value of non-transferable ballot papers			50.97364
	Total		129.00000

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of John KANE

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne FERGUSON	44	0.08354	3.67576
Transfer to Joanne FERGUSON	15	0.22167	3.32505
Transfer to Joanne FERGUSON	14	0.34702	4.85828
Transfer to Joanne FERGUSON	51	1.00000	51.00000
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Brian MCCAIG	10	0.08354	0.83540
Transfer to Brian MCCAIG	11	0.22167	2.43837
Transfer to Brian MCCAIG	5	0.34702	1.73510
Transfer to Brian MCCAIG	30	1.00000	30.00000
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	4	0.08354	0.33416
Transfer to Josh WILSON	3	0.22167	0.66501
Transfer to Josh WILSON	47	0.34702	16.30994
Transfer to Josh WILSON	77	1.00000	77.00000
Value of non-transferable ballot papers			72.99529
N.B. The figures may not add due to rounding.	Total		265.17236

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Joanne FERGUSON

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John KANE	0	0.00000	0.00000
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Brian MCCAIG	179	0.08354	14.95366
Transfer to Brian MCCAIG	39	0.22167	8.64513
Transfer to Brian MCCAIG	7	0.34702	2.42914
Transfer to Brian MCCAIG	96	1.00000	96.00000
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	15	0.08354	1.25310
Transfer to Josh WILSON	4	0.22167	0.88668
Transfer to Josh WILSON	16	0.34702	5.55232
Transfer to Josh WILSON	28	1.00000	28.00000
Value of non-transferable ballot papers			187.53093
	Total		345.25096

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Brian MCCAIG

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Joanne FERGUSON	0	0.00000	0.00000
Transfer to John KANE	0	0.00000	0.00000
Transfer to Joe LOWE	0	0.00000	0.00000
Transfer to Lynne NAILON	0	0.00000	0.00000
Transfer to John ROSS	0	0.00000	0.00000
Transfer to Josh WILSON	131	0.08354	10.94374
Transfer to Josh WILSON	265	0.22167	58.74255
Transfer to Josh WILSON	36	0.34702	12.49272
Transfer to Josh WILSON	158	1.00000	158.00000
Value of non-transferable ballot papers			936.75368
	Total		1,176.93269